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No.
No.
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No.

1 ‘cam‘es 1 mark each
2-6 can’y 2 marks each
7-11 carry 3 marks each
12-18 carry 5 marks e'ach

19-22 carry 8 marks each

Jor the questions.

1x8= 8
2x5=10
3x5 =15

Sx7 =33

| 8x4 =32

Total =100
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1. Answer the following questions :

s SEle awafem Teg wie ¢

(@)

(b)

(@

(g)

(h)

Why is it said management principles- are universal ?- 1

Wﬁﬁm@wﬁmﬂmﬂ?

How management is an intangible force ? : 1

AT eI 9T rHifefes =Ife?

Name the concept which permits direct communication
between two employees working at the same level. 1

TS TS [RGH TGN K] ST (ISR SR eIl Ses

I G|

Who wrote the book titled General and Industnal Management
published in the year 1949 ? 1

538> e UMM General a_nd Industrial Managerrient agioa
TP (F?

What is the other name of long term investment decision ?

_ 1
e RN Fracea ww S e
In which year SEBI came into being ?. : 1]
(PN AteT SEBIF Seif 95 2
Give an example of speciality products. 1

Rew wRiged sk @t Trgadt ws |

Under which source of recruitment employees get motivated ?
' 1

~ RS @R St woRE eefre 2@ e

27T BUST (BENG) _ [2]



2. How is planning a pervasive function ? o w2

ﬂﬁwﬁmmﬁmﬁam? |

3. State the authonty of top management and freedom of action

under centralisation. 2
- (FETETAC AR F99 @ TP FITTo! FT=F 3901 7 |
4. Explain job-rotation as a method of training. 2

AR G PSR TSR I |

5. Mention two non-financial incentives to promote motivation. 2

YEIfreTd ABICe 716 F-SNfT SAFHLS-GT S I |

6. .State any one instrument of money market. | , 2

Y4 ISR (T I 95 S [ WoAER 12 3609 F& |

7. What do you mean by management by exception ? 3

JroFCE =l SAREIEA! FeT0e o FT @2

8. Outline three leadiﬁg features of a good control systen'i. 3

. Gy R R B 2 RS S

9. Discuss three objectives of financial planning. 3
i “IfFENR o S SNTEel ! |
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10.

11.

12.

13.
- Unity of Direction. ' | S

Or / 13

State the three decisions involved in financial managément.

R =R T wive o8 P 24 7@

What are the legal protection offered to consumers under ‘The
Consumers Protection Act’ 1986 ? ' 3

SobY AR 2NE T SNEER SR SFFrd (& 6 Sizaers Tt omim a1 222
| Or /9

Who is an entrepreneur ? "Mention the functions of " an
entrepreneur. .

SO (@2 GG S FORTI B Sl |

Explain any three rights ensured to c.onsumers in India. - 3
SRS AT AR T (T (! (o715 SRR FTIE A A |

Or /9241 |
State the three basic needs for entrepréneurship in India today.
WG SIReACd Somier fSaT araemiTe! I T |
Why Co-ordination is considered as the the essence of
management ? S
Explain the principle of Unity of Command and the princip_le of

o Ge] A1 8 R gael SifS TS [ FE! |
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14.

. 1D,

16.

17.

1:8.

16
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State the five key components of economic environment in India.

S

SRR TS ARE@R - A5/ o1 SAMA. TE o e

Discuss five features of planning. A . , 5

RISEEDIE] WW@WWWl
Or / 924

Mention five advantages of laying down procedure.

SR 2 e <1575 R S @i

State five disadvantages of internal sources of recruitment. S

e ST Seor A srRar Raw < et |

Outline five points of distinction between primary and secondary
capital market in India. . ‘ S

SISICH AR 8 (M [ AQUGEE W A6 AT (IS |

How can marketing be distinguished from selling ? _ 5

AGITFRNE Frei . Kz cmqa@swm?

What is functional organisation structure ? State three merits and

demerits of such a structure. ' 2+3+3=8

TR TR 515w P AT 2 Bl NI o5 3R @ SpiRidia 3t e |
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21.
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State four features of informal organisation and mention two
advantages and two disadvantages of such organisation.
4+2+2=8

Wﬂmﬁéﬁﬁﬁﬂ\m 5115 () (<0l '@ R SRSt 75 Rl
8 SRR T2 SEe FE |

Discuss four barriers to commumcatlon and suggest four measures

" to make commumcatlon effective. 4+4=8

mwmmﬁﬁwmwwﬂwmmﬁaw 519G
R S |

Or / 934!

In between verbal and written communication which one would

.you prefer and why ? 4+4=8

GTR% € Filke N N BN (PG % FAE S (@ 2

Elaborate the concept of working capital. Explain five factors

“' affecting the working-capital requirement of a firm. 3+5=8

BT TREH 4Rl TS F@ | G0 ASWIER Shre FHER AEETeE
AORIRS F G 5l o i I

" Or /94

State the objectives of financial management and discuss the role
of finan¢e manager in a corporate organisation. 4+4=8

Gifs AR ST 399 e @ G5 ot efSDieT Sfd v e
WWWI
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22. What is marketing mix ? Explain four leading elements of
marketing mix. > _ 2+6=8 .

mcfﬁé!ﬁmam?wqﬁmﬁﬁ BIRC 24N S 1R e |

Or / 924

What are industrial products ? Explain its six distinctive features.
- 2+6=8
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